



**SECOND AMENDMENT TO CONTRACT BETWEEN BROWARD COUNTY AND
GREAT LAKES DREDGE & DOCK COMPANY, LLC
FOR SAND BYPASS DREDGING PROJECT AT PORT EVERGLADES**

BID NO. PNC2126890C1

This Second Amendment ("Amendment") is entered into between Broward County, a political subdivision of the State of Florida ("County"), and Great Lakes Dredge & Dock Company, LLC ("Contractor") (each a "Party" and collectively referred to as the "Parties").

RECITALS

A. The Parties entered into the Sand Bypass Dredging Project at Port Everglades, Bid No. PNC2126890C1, dated May 17, 2024 ("Agreement"), to provide for the modification of inlet infrastructure at Port Everglades to facilitate the collection, temporary storage, and transfer of sand to the beaches south of the inlet.

B. The Parties entered into a First Amendment on September 25, 2025, approved by the Director of Purchasing on behalf of County, to reflect changes to the County's Contract Administrator, corporate acquisition of the project Consultant, and, due to the need for additional federal permit conditions and resulting delay in initiation of the project, a longer period for substantial completion.

C. The Parties now desire to amend the Agreement to reflect changes in the Contract Price associated with the delay in initiation of the project.

Now, therefore, for good and valuable consideration, the receipt and sufficiency of which are hereby acknowledged, the Parties agree as follows:

1. The above Recitals are true and correct and are incorporated herein by reference. All capitalized terms not expressly defined within this Amendment shall retain the meaning ascribed to such terms in the Agreement.

2. Unless otherwise expressly stated herein, amendments to the Agreement and First Amendment made pursuant to this Second Amendment are indicated herein by use of strikethroughs to indicate deletions and bold/underlining to indicate additions. Except as modified herein, all remaining terms and conditions of the Agreement and First Amendment shall remain in full force and effect.

3. The Contract Price, as defined in Section 1.9 of the Agreement, is hereby amended as described in Exhibit D to reflect an increase of \$1,648,716.

4. Section 8 of the First Amendment is amended to read as follows:

8. Contractor acknowledges that through the date this Second Amendment is executed by Contractor, Contractor has no claims or disputes against County with respect to any of the matters covered by the Agreement and First Amendment.
5. In the event of any conflict or ambiguity between this Second Amendment and the Agreement, as amended by the First Amendment, the Parties agree that this Second Amendment shall control. The Agreement, as amended by the First Amendment and this Second Amendment, incorporates and includes all prior negotiations, correspondence, conversations, agreements, and understandings applicable to the matters contained herein, and the Parties agree that there are no commitments, agreements, or understandings concerning the subject matter hereof that are not contained in the Agreement, as amended by the First Amendment and this Second Amendment. Accordingly, the Parties agree that no deviation from the terms hereof shall be predicated upon any prior representations or agreements, whether oral or written.
6. Preparation of this Second Amendment has been a joint effort of the Parties and the resulting document shall not, solely as a matter of judicial construction, be construed more severely against one of the Parties than any other.
7. The effective date of this Second Amendment shall be the date of complete execution by the Parties.
8. This Second Amendment may be executed in multiple originals or in counterparts, whether signed physically or electronically; each of which shall be deemed to be an original, and all of which, taken together, shall constitute one and the same amendment.

(The remainder of this page is blank.)

IN WITNESS WHEREOF, the Parties hereto have made and executed this Second Amendment: Broward County, through its Board of County Commissioners, signing by and through its Mayor or Vice-Mayor, authorized to execute same by Board action on the _____ day of _____, 20____; and Great Lakes Dredge & Dock Company, LLC, signing by and through its duly authorized representative.

COUNTY

ATTEST:

BROWARD COUNTY, by and through
its Board of County Commissioners

By: _____
Broward County Administrator, as
ex officio Clerk of the Broward County
Board of County Commissioners

By: _____
Mayor
____ day of _____, 20____

Approved as to form by
Andrew J. Meyers
Broward County Attorney
115 South Andrews Avenue, Suite 423
Fort Lauderdale, Florida 33301
Telephone: (954) 357-7600

MICHAEL
By OWENS
Michael C. Owens (Date)
Senior Assistant County Attorney

Digitally signed by MICHAEL
OWENS
Date: 2026.01.28 13:33:33
-05'00'

MAITE
By AZCOITIA
Maite Azcoitia (Date)
Deputy County Attorney

Digitally signed by MAITE
AZCOITIA
Date: 2026.01.28 12:57:40
-05'00'

MCO/gmb
Second Amendment to Sand Bypass Dredging Project at Port Everglades
01/23/2026
#70056-0068

**SECOND AMENDMENT TO CONTRACT BETWEEN BROWARD COUNTY AND
GREAT LAKES DREDGE & DOCK COMPANY, LLC
FOR SAND BYPASS DREDGING PROJECT AT PORT EVERGLADES
BID NO. PNC2126890C1**

CONTRACTOR

GREAT LAKES DREDGE & DOCK COMPANY, LLC

Mark Reid
By: _____
Authorized Signer

Digitally signed by Mark Reid
DN: cn=Mark Reid, o=SVP Capital
Projects, ou, email=mreid@gldd.com,
c=US
Date: 2026.01.27 13:17:47 -06'00'

Mark Reid, SVP

Print Name and Title

27 day of Jan, 2026

WITNESS:

**Christopher
Pomfret**

Signature

Digitally signed by Christopher
Pomfret
Date: 2026.01.27 14:51:12
-05'00'

Christopher Pomfret

Print Name of Witness above

EXHIBIT D
CONTRACT PRICE INCREASE



GREAT LAKES DREDGE
& DOCK COMPANY, LLC

9811 Katy Freeway | Suite 1200
Houston, TX 77024
1+ 346.359.1010 | www.gldd.com

Sent via email

December 18, 2025

Stephanie C. Roche, M.S.
Beach Program Manager
Broward County
115 S. Andrews Ave., Room 329K
Fort Lauderdale, Florida 33301

RE: Request for Amendment for Cost Changes due to Change in Commencement –
REVISION 1 – AGREED FINAL

Ms. Roche,

Thank you for meeting today to finalize and agree on the below final escalation/inflation costs derived from the change in commencement of the project for the reinitiation of consultation related to Queen Conch (Change Order).

The below summary outlines each dredge seasons escalation costs incurred due to the one-year shift in construction commencement. The inflation is broken out by seasons because it aligns with the work/permit schedule and with the Local 25 South Collective Bargaining Agreement yearly terms.

Escalation Costs (Two Dredge Seasons):

- a. Hourly Payroll increases for the shift in construction schedule are set as to the Collective Bargaining Agreement of Local 25 South.
- b. Inflated costs for Salaried Wages, Fuel, Rentals, Materials and Services are set to:
10/1/2024 – 9/30/2025: Base year. Cost is not inflated.
10/1/2025 – 9/30/2026: Season 1 Operations are inflated by 3% (CPI).
10/1/2026 – 9/30/2027: Season 2 Operations are inflated by 3%.
- c. Corporate Overhead has not been inflated.

The total agreed cost is \$1,648,716 (see below table).

We appreciate your effort to issue this change order item in January '25. I am available anytime if needed.

Sincerely,

A handwritten signature in blue ink that reads "Mark L. Reid".

Mark L. Reid
Senior Vice President

Cc: Lynn C. Nietfeld, Senior Vice President
Alan F. Mills, Director, Contract Management
Chris Pomfret, Senior Project Manager

Proposal Summary								
Line Item	Description	Quantity	Unit	Unit Price	Amount	Cost	Profit Margin	Profit %
<i>Escalation Costs - First Season</i>								
XXXXX	CLIN 2: Structure Inspection & Vibration Monitoring	1	Lump Sum	\$3,997	\$3,997	\$3,634	\$363	10.0%
XXXXX	Mobilization & Delay	1	Lump Sum	\$134,762	\$134,762	\$122,511	\$12,251	10.0%
XXXXX	Dredging & Delays	1	Lump Sum	\$1,024,261	\$1,024,261	\$931,146	\$93,115	10.0%
Total Request for Amendment for Cost Changes					\$1,163,020	\$1,057,291	\$105,729	10.0%
<i>Escalation Costs - Second Season</i>								
XXXXX	CLIN 2: Structure Inspection & Vibration Monitoring	1	Lump Sum	\$0	\$0	\$0	\$0	0.0%
XXXXX	Mobilization & Delay	1	Lump Sum	\$81,873	\$81,873	\$74,430	\$7,443	10.0%
XXXXX	Dredging & Delays	1	Lump Sum	\$403,823	\$403,823	\$367,112	\$36,711	10.0%
Total Request for Amendment for Cost Changes					\$485,696	\$441,542	\$44,154	10.0%
<i>Escalation Costs - Grand Total</i>								
XXXXX	CLIN 2: Structure Inspection & Vibration Monitoring	1	Lump Sum	\$3,997	\$3,997	\$3,634	\$363	10.0%
XXXXX	Mobilization & Delay	1	Lump Sum	\$216,635	\$216,635	\$196,941	\$19,694	10.0%
XXXXX	Dredging & Delays	1	Lump Sum	\$1,428,084	\$1,428,084	\$1,298,258	\$129,826	10.0%
Total Request for Amendment for Cost Changes					\$1,648,716	\$1,498,833	\$149,883	10.0%